Pre-Calculus A
Section 5.1 Factoring GCF and LCD HW

Simplify the following trigonometric expressions.

1. sin® xcos® x—cos® x .
en
teiX (sintx -1 )< Pymag identity

cosX (- cos?x)

‘.-cos"X ]

3. sin® x +sin xcos® x

SINX (smlx +(O¢X ) « Pyrhag.

ldenhty

sinx (1)

5. sin xcscx —sin? x

SR ( CSCX - siNnX )

$in% (_l— -3‘—“X)<_Lco: SNX

T \snx |

L sinX smx)
Slr-l‘—)—( (Slm( sinX

i szx)
S‘Jlll (smx SNk

v Pythag

SINX ( 1-gin’X ) dentity
W §INX

Name :
Date :

(&

Period:

2. sec’ xcot x —cot x

Pythaq . wdent
o (sec"x -1 )< yrhag Y

CotX (tanx)

0§ X (_Sﬁl_" )
X LsrR

wix. sinXx

St [ |
wiX

4. cot® x—cot® xcos® x
wix (1 - g®x )« Pyihag. dennty

cotEx (snx)

oyt X (&_12(:?‘)
o U

6. cscCx—cosxcotx
L _ coeX, g%

g

SINX T gink
o X
smx sinX
ent
1-cosix & Py¥nag den Y|

R g

sINX

cin® X

L

sinX

ST SINX
S
-\ sinx }



7. cOSx+sinxtan x
oSk , SINX SinX

] T TS
WX OIX L SI0PX  Lep: (0EX

g - ! COsX
Wil X | sntX
X X

s X +SinAX € Pyinag \denthty
AR

(O3 X

-—l- = | 8RN
(S5 I:J

[sec?x\_— @™ 1 ufX
9. tanx— e 1 e e
tan x snx WX sing
/ T W X \
SINA | - ==
Py & £ LED OSSN X wo5x% SINX

WX cosxsIX

six-sax _ |
GnX - OSX  EXSIX

sin’x -|_ & Pythag aentity
Ssnx-l
stn % LoLX

/
__(_el_%_—’s- P -E".S_X : \—(,QTX
Snx LgeX SNk :
|

ﬂ?w  anowsl

S5, wsd & Le0:(c0s8) (s1nd) sin®
50 siNQ i SH'{G

SO NG (030~ 88

sy W Su® 080 o8B
SO NSO sl - W56 )Kg

o

—

Sin?Q + (0840 0820
(sn8)(0s0)
\ =| sec*0 I
SING- (SO

g cosx+sinx (L(QL(SW\X)(WS*)
sinx cosx

WSX - oSk . SN X -Si%

WX « §iNX wsx-smx

oL X (N> X
L T,

(sx)(sINR ) {mﬂ*)

COL* X fsint X
(cosk )(swx)

L]
()GIx) l@

' CcoSXx +1+sinx </\'CD;(u)s,‘)(\:fsm)()
l+sinx cosx

10

COsX+ LOSX . 1+sINX (1six) 242510%

WX (4sit) oSk (148InK) cosx(1sinx)
Z
W2 X )+uzsmx+sm)x 2 (1K)
+Hnx ———kr
COX(SR)  cosn (A e (\nK)
":‘::‘?‘-9 [ oy xasin®x + 1+251NX 2
\ t ‘—__'____.______————
(osx (\45INX) (OSK

Lela2sn X
_SFUNESIE
Wer(1+0X )

v FOIL
12. (1-cos x)(1 +sec x)(cos x)
(1+ seex- 8k - cosxsecy ) asx )
L4 seCX -(O5X - W, 1
( : cNX)(oosx)

(X« secx -0 X -4 Y wsx)
(seex- wSxYXcosx)
COsRSECX = (0§ 2 X
X, L _cogty
T X

PRI S lsmlx}

v

J v .
Answer Key: 1) —cos® x 2) tanx 3)sinx 4)cos’x 5)cos’x 6)sinx 7)secx

v v/

v
8) cscxsecx 9) —cotx 10) 2secx 11) sec’ O

12) 3\1{12x



